
gastroparts@gastroparts.com

+48 56 657 00 66

fb.com/gastroparts.global

GASTROPARTS.COM

Geräte

Aparatos

Équipement

Attrezzature

Urządzenia

Оборудование

[EN]

[DE]

[ES]

[FR]

[IT]

[PL]

[RU]

Equipment

Faba

mailto:gastroparts@gastroparts.com
https://fb.com/gastroparts.global
https://gastroparts.com/


1

el
ec

tr
ic

 c
om

po
ne

nt
s

heating elements
heating elements for crepes makers

1

Part No. 416636 Ref. No. PR30001

description
heating element  2000W 230V L 280mm Wmm H 34mm tube ø 9mm 
connection M4 dry heating element heating circuits 1 ED ø 305mm 
crepes maker

heating elements for contact grills

1

Part No. 416145 Ref. No. PR10003

description
heating element  1000W 230V L 177mm W 180mm H 18mm W1 
46mm W2 88mm tube ø 6.3mm windings 3 connection M4 dry 
heating element

1

Part No. 416146 Ref. No. PR103/1

description
heating element  1200W 230V L 180mm W 228mm H 20mm W1 
55mm W2 118mm connection length 23mm tube ø 6.3mm windings 
4 connection M4 dry heating element

1

Part No. 416147 Ref. No. PR103/2

description
heating element  1500W 230V L 180mm W 175mm H 15mm W1 
52mm W2 71mm connection length 22mm tube ø 6.3mm windings 5 
connection M4 dry heating element

1

Part No. 416148 Ref. No. PR10013

description
heating element  800W 230V heating circuits 1 L 175mm W 180mm 
H 20mm W1 46mm W2 118mm connection length 23mm tube ø 
6.3mm windings 3 connection M4 dry heating element

1

Part No. 416173 Ref. No. PR13007

description

heating element  850W 230V heating circuits 1 L 254mm W 202mm H 
25mm W1 68mm W2 66mm connection length 23mm tube ø 6.3mm 
windings 5 connection M4 number of thermostat sleeves 1 thermo-
stat sleeves ø 5mm length thermostat sleeves 195mm bridge length 
240mm dry heating element

quartz heating elements

1

Part No. 416144 Ref. No. PR4G015

description quartz heating element  300W 115V L 440mm

1

Part No. 416142 Ref. No. P40004

description
quartz heating element  L 285mm ø 11mm 800W 230V W 110mm 
connection eye

1

Part No. 416143 Ref. No. P404/1

description
quartz heating element  L 390mm ø 11mm 1000W 230V W 110mm 
connection eye

spare parts for 416143

Part No. 416493 Ref. No. —

quartz tube WV L 390mm ID ø 8.5mm ED ø 11mm

3Find the complete and up-to-date range of products on https://gastroparts.com

FABA HEATING ELEMENTS

https://gastroparts.com/en/item/heating-element-2000w-230v-l-280mm-h-34m-416636
https://gastroparts.com/en/item/heating-element-1000w-230v-l-177mm-w-180-416145
https://gastroparts.com/en/item/heating-element-1200w-230v-l-180mm-w-228-416146
https://gastroparts.com/en/item/heating-element-1500w-230v-l-180mm-w-175-416147
https://gastroparts.com/en/item/heating-element-800w-230v-l-175mm-w-210m-416148
https://gastroparts.com/en/item/heating-element-850w-230v-heating-circui-416173
https://gastroparts.com/en/item/quartz-heating-element-300w-115v-l-440mm-416144
https://gastroparts.com/en/item/quartz-heating-element-l-285mm-o-11mm-80-416142
https://gastroparts.com/en/item/quartz-heating-element-l-390mm-o-11mm-10-416143
https://gastroparts.com/en/item/quartz-heating-element-l-390mm-o-11mm-10-416143
https://gastroparts.com/en/item/quartz-tube-length-390mm-internal-diamet-416493


4 Find the complete and up-to-date range of products on https://gastroparts.com

1

el
ec

tr
ic

 c
om

po
ne

nt
s

accessories

capillary tube clips

1

Part No. 550491 Ref. No. PR70044

description
capillary tube clip  for pipe ø 8.5mm for circular tube heating 
elements

spring clips

1

Part No. 550419 Ref. No. PR70042

description probe clip  for pipe ø 8.5mm for probe ø 6mm Qty 1 pcs

1

Part No. 693048 Ref. No. PR405/7

description insulator

1

Part No. 693047 Ref. No. PR405/6+PR405/7

description insulator  complete hole ø 5.3mm ø 16mm

thermostats
bi-metal thermostats

safety bi-metal thermostats

1

Part No. 390187 Ref. No. PR10015

description
bi-metal safety thermostat  hole distance 40mm switch-off temp. 
180°C 2NC 2-pole 16A connection F6.3 2 hole fixing

bi-metal thermostats

1

Part No. 390096 Ref. No. PR40026

description
bi-metal thermostat  hole distancemm switch-off temp. 200°C 1NC 
1-pole 16A 250V connection F6.3 M4

control and safety thermostats

EGO
control thermostats

55.10/19_ series

1

Part No. 375264 Ref. No. PR70009

description

thermostat  t.max. 190°C temperature range 80-190°C 1-pole 1NO 
16A probe ø 6mm probe L 87mm capillary pipe 570mm capillary pipe 
isolatedmm gland nut shaft L 23mm shaft position lower rotation 
270°

1

Part No. 375002 Ref. No. PR10009

description

thermostat  t.max. 320°C temperature range 55-320°C 1-pole 1NO 
16A probe ø 3.1mm probe L 226mm capillary pipe 870mm capillary 
pipe isolated 850mm gland nut shaft L 23mm shaft position upper 
rotation 270°

A

https://www.gev-online.com/en-us/webshop/product/693048?utm_source=pdf&utm_medium=catalog&utm_campaign=Vendors ENU&utm_content=Faba&utm_term=ENU
https://gastroparts.com/en/item/capillary-tube-clip-for-pipe-o-8-5mm-for-550491
https://gastroparts.com/en/item/probe-clip-for-pipe-o-8-5mm-for-probe-o-550419
https://gastroparts.com/en/item/bi-metal-safety-thermostat-hole-distance-390187
https://gastroparts.com/en/item/bi-metal-thermostat-switch-off-temp-250-390096
https://gastroparts.com/en/item/thermostat-t-max-190degc-temperature-rang-375264
https://gastroparts.com/en/item/thermostat-t-max-320degc-temperature-rang-375002


5Find the complete and up-to-date range of products on https://gastroparts.com

1

el
ec

tr
ic

 c
om

po
ne

nt
s

1

Part No. 375253 Ref. No. PR13012

description

thermostat  t.max. 455°C temperature range 85-455°C 1-pole 1NO 
16A probe ø 3.9mm probe L 228mm capillary pipe 870mm capillary 
pipe isolated 660mm gland nut shaft ø 6x4.6mm shaft L 23mm shaft 
position upper rotation 270°

safety thermostats

56._ series

1

Part No. 390610 Ref. No. PR70008

description
safety thermostat  switch-off temp. 235°C 1-pole 16A probe ø 3mm 
probe L 190mm capillary pipe 1000mm capillary pipe isolated 
640mm gland nut probe SS

accessories

probe clips
spring clips

for thermostat

1

Part No. 550419 Ref. No. PR70042

description probe clip  for pipe ø 8.5mm for probe ø 6mm Qty 1 pcs

capillary tube clips

1

Part No. 550491 Ref. No. PR70044

description
capillary tube clip  for pipe ø 8.5mm for circular tube heating 
elements

switches and momentary switches
rocker/momentary rocker switches

30x22mm

1

Part No. 347791 Ref. No. PR60008

description
rocker switch  mounting measurements 30x22mm green 2NO 230V 
20A illuminated 0-I connection male faston 6.3mm ambient tempera-
ture max. 125/55°C protection IP65 with rubber collar

1

Part No. 345647 Ref. No. PR4G026

description
rocker switch  mounting measurements 30x22mm red/red 1NO/NO 
250V 16A illuminated I/II connection male faston 6.3mm ambient 
temperature max. 100/55°C protection IP40

accessories for 345647

Part No. 301036 Ref. No. —

protective cover  internal size 30x22mm for rocker switch mounting 
measurementsmm

1

Part No. 345646 Ref. No. PR40027

description
rocker switch  mounting measurements 30x22mm black/orange 
1NO/indicator light 250V 16A I-II connection male faston 6.3mm 
ambient temperature max. 100/55°C protection IP40

microswitches

pin-plunger actuated
M10

1

Part No. 345032 Ref. No. PR70011

description

microswitch  with plunger thread M10x1 thread L 12mm 250V 16A 
1CO connection male faston 6.3mm stroke 7mm mounting distance 
22mm L 28mm ambient temperature max. 125°C type SP9603 actua-
ting force: 180g

FABA THERMOSTATS/SWITCHES AND MOMENTARY SWITCHES

https://gastroparts.com/en/item/thermostat-t-max-455degc-temperature-rang-375253
https://gastroparts.com/en/item/safety-thermostat-switch-off-temp-235degc-390610
https://gastroparts.com/en/item/probe-clip-for-pipe-o-8-5mm-for-probe-o-550419
https://gastroparts.com/en/item/capillary-tube-clip-for-pipe-o-8-5mm-for-550491
https://gastroparts.com/en/item/rocker-switch-mounting-measurements-30x2-347791
https://gastroparts.com/en/item/rocker-switch-mounting-measurements-30x2-345647
https://gastroparts.com/en/item/rocker-switch-mounting-measurements-30x2-345647
https://gastroparts.com/en/item/protective-cover-internal-size-30x22mm-f-301036
https://gastroparts.com/en/item/rocker-switch-mounting-dimension-30x22mm-345646
https://gastroparts.com/en/item/unox-microswitch-with-plunger-250v-16a-1-345032


6 Find the complete and up-to-date range of products on https://gastroparts.com

1

el
ec

tr
ic

 c
om

po
ne

nt
s

cam switches

on/off

1

Part No. 300124 Ref. No. PR10007

description cam switch  ON-OFF connection male faston

lamps
indicator lights

indicator lights (complete)
ø10mm

with plug-in socket

1

Part No. 359139 Ref. No. PR10006

description
indicator light  ø 10mm green 230V connection male faston 6.3mm 
Qty 1 pcs

1

Part No. 359140 Ref. No. PR10010

description
indicator light  ø 10mm yellow 230V connection male faston 6.3mm 
Qty 1 pcs

timers
mechanical timers

1

Part No. 360149 Ref. No. PR40014

description
timer  IT 2-pole operation time 15min impulse mechanical 2NO at 
250V 16A permanent position no shaft ø 7x5mm shaft 7x5mm shaft L 
15mm mounting distance 28mm connection lateral

power contactors

1

Part No. 380213 Ref. No. PR70015

description
power contactor  resistive load 20A 230VAC (AC3/400V) 8.5A/5.5kW 
main contacts 3NO auxiliary contacts 1NO connection screw connec-
tion type Fanal DSL7 10 type ISKRA K07M 10

gas thermostats
SABAF

1

Part No. 101687 Ref. No. PR3G044

description

gas thermostat  SABAF t.max. 300°C gas inlet pipe flange ø16mm 
bypass nozzle ø 0.37mm gas outlet M13x1 IT (tube ø 8mm) gas 
outlet 2 thermocouple connection M8x1 pilot connection capillary 
pipe 850mm probe ø 4mm probe L 140mm shaft ø 8x6.5mm shaft L 
17/12mm shaft flat lower

accessories for 101687

Part No. 101277 Ref. No. —

olive  ID ø 8mm Qty 1 pcs

Part No. 101376 Ref. No. —

gasket  ID ø 8mm ED ø 12mm H 3/5mm

Part No. 101477 Ref. No. —

union screw  thread M13x1 tube ø 8mm Qty 1 pcs

Part No. 101751 Ref. No. PR3G046

bracket

A

https://gastroparts.com/en/item/cam-switch-on-off-connection-male-faston-300124
https://gastroparts.com/en/item/indicator-light-o-10mm-green-230v-connec-359139
https://gastroparts.com/en/item/indicator-light-o-10mm-yellow-230v-conne-359140
https://gastroparts.com/en/item/timer-it-2-pole-operation-time-15min-imp-360149
https://gastroparts.com/en/item/power-contactor-resistive-load-20a-230va-380213
https://gastroparts.com/en/item/gas-thermostat-sabaf-t-max-300degc-gas-in-101687
https://gastroparts.com/en/item/gas-thermostat-sabaf-t-max-300degc-gas-in-101687
https://gastroparts.com/en/item/olive-id-o-8mm-qty-1-pcs-101277
https://gastroparts.com/en/item/gasket-id-o-8mm-ed-o-12mm-h-3-5mm-101376
https://gastroparts.com/en/item/union-screw-thread-m13x1-tube-o-8mm-qty-101477
https://gastroparts.com/en/item/bracket-101751


7Find the complete and up-to-date range of products on https://gastroparts.com

1

ga
s 

co
m

po
ne

nt
s

ignition parts
electrodes

1

Part No. 100167 Ref. No. PR3G033

description
ignition electrode  D1 ø 6mm cable length 700mm connection F 
2.8x0.8mm D2 ø 8.5mm BL1 14mm BL2 2mm BL3 13mm to clip

piezoelectric igniters

mounting diameter 18mm

1

Part No. 100009 Ref. No. PR3G047

description
piezoelectric igniter  body plastic blowing mounting ø 18mm con-
nection ø2.4mm front measurements 26mm M18x1.5

accessories for 100009

Part No. 101339 Ref. No. —

cover cap  for piezoelectric igniter

Part No. 106869 Ref. No. —

cover cap  for piezoelectric igniter ID ø 22mm ED ø 35mm H 25mm

Part No. 107931 Ref. No. —

cover cap  for piezoelectric igniter ID ø 21mm ED ø 36mm

thermocouples

threaded thermocouples
threaded thermocouples standard

threaded thermocouples (miscellaneous)

1

Part No. 102121 Ref. No. PR3G034

description thermocouple  M8x1 L 600mm M6x0.5

accessories for 102121

Part No. 100892 Ref. No. —

thermocouple nut  thread M6x0.5 H 6.5mm WS 8 brass Qty 1 pcs

gas burners
hob burners

universal hob burners
SABAF

1 series

1

Part No. 104288 Ref. No. PR3G029

description burner cap  3.6kW ø 120mm

accessories for 104288

Part No. 104289 Ref. No. PR3G032

burner lower part  3/3.6kW for burner cap ø 90/120mm

Part No. 105086 Ref. No. PR3G030

burner ring  3.6kW for burner cap ø 120mm

Part No. 105087 Ref. No. PR3G031

burner head  3.6kW for burner cap ø 120mm

1

Part No. 105087 Ref. No. PR3G031

description burner head  3.6kW for burner cap ø 120mm

accessories for 105087

Part No. 104288 Ref. No. PR3G029

burner cap  3.6kW ø 120mm

Part No. 105085 Ref. No. —

burner cap  ø 120mm

Part No. 105086 Ref. No. PR3G030

burner ring  3.6kW for burner cap ø 120mm

Part No. 105088 Ref. No. —

burner cap  A ø 110mm with central hole

Part No. 105089 Ref. No. —

burner ring  3kW for burner cap ø 90mm

1

Part No. 104289 Ref. No. PR3G032

description burner lower part  3/3.6kW for burner cap ø 90/120mm

accessories for 104289

Part No. 104286 Ref. No. —

burner cap  3kW ø 90mm

Table continues overleaf

FABA IGNITION PARTS/GAS BURNERS

https://gastroparts.com/en/item/ignition-electrode-d1-o-6mm-cable-length-100167
https://gastroparts.com/en/item/piezoelectric-igniter-body-plastic-blowi-100009
https://gastroparts.com/en/item/piezoelectric-igniter-body-plastic-blowi-100009
https://gastroparts.com/en/item/cover-cap-for-piezoelectric-igniter-101339
https://gastroparts.com/en/item/cover-cap-for-piezoelectric-igniter-id-o-106869
https://gastroparts.com/en/item/thermocouple-m8x1-l-600mm-m6x0-5-102121
https://gastroparts.com/en/item/thermocouple-m8x1-l-600mm-m6x0-5-102121
https://gastroparts.com/en/item/thermocouple-nut-thread-m6x0-5-h-6-5mm-w-100892
https://gastroparts.com/en/item/burner-cap-3-6kw-o-120mm-104288
https://gastroparts.com/en/item/burner-cap-3-6kw-o-120mm-104288
https://gastroparts.com/en/item/burner-lower-part-3-3-6kw-for-burner-cap-104289
https://gastroparts.com/en/item/burner-ring-3-6kw-for-burner-cap-o-120mm-105086
https://gastroparts.com/en/item/burner-head-3-6kw-for-burner-cap-o-120mm-105087
https://gastroparts.com/en/item/burner-head-3-6kw-for-burner-cap-o-120mm-105087
https://gastroparts.com/en/item/burner-head-3-6kw-for-burner-cap-o-120mm-105087
https://gastroparts.com/en/item/burner-cap-3-6kw-o-120mm-104288
https://gastroparts.com/en/item/burner-cap-o-120mm-105085
https://gastroparts.com/en/item/burner-ring-3-6kw-for-burner-cap-o-120mm-105086
https://gastroparts.com/en/item/burner-cap-a-o-110mm-with-central-hole-105088
https://gastroparts.com/en/item/burner-ring-3kw-for-burner-cap-o-90mm-105089
https://gastroparts.com/en/item/burner-lower-part-3-3-6kw-for-burner-cap-104289
https://gastroparts.com/en/item/burner-lower-part-3-3-6kw-for-burner-cap-104289
https://gastroparts.com/en/item/burner-cap-3kw-o-90mm-104286


8 Find the complete and up-to-date range of products on https://gastroparts.com

1

ga
s 

co
m

po
ne

nt
s

accessories for 104289

Part No. 104288 Ref. No. PR3G029

burner cap  3.6kW ø 120mm

Part No. 105086 Ref. No. PR3G030

burner ring  3.6kW for burner cap ø 120mm

Part No. 105087 Ref. No. PR3G031

burner head  3.6kW for burner cap ø 120mm

Part No. 105089 Ref. No. —

burner ring  3kW for burner cap ø 90mm

Part No. 105090 Ref. No. —

burner head  3kW for burner cap ø 90mm

Part No. 106482 Ref. No. —

gas injector  thread M6x0.75 WS 7 bore ø 1.1mm

Part No. 106485 Ref. No. —

gas injector  thread M6x0.75 WS 7 bore ø 1.6mm

1

Part No. 105086 Ref. No. PR3G030

description burner ring  3.6kW for burner cap ø 120mm

accessories for 105086

Part No. 105085 Ref. No. —

burner cap  ø 120mm

Part No. 105087 Ref. No. PR3G031

burner head  3.6kW for burner cap ø 120mm

Part No. 105088 Ref. No. —

burner cap  A ø 110mm with central hole

Part No. 105089 Ref. No. —

burner ring  3kW for burner cap ø 90mm

knobs
producer-specific knobs

FABA

1

Part No. 110377 Ref. No. PR3G048

description
knob  switch zero mark ø 40mm shaft ø 8x6.5mm shaft flat upper 
black

1

Part No. 110374 Ref. No. PR10008

description
knob  switch zero mark t.max.°C°C ø 40mm shaft ø 6x4.6mm shaft flat 
upper black

1

Part No. 110889 Ref. No. PR40016

description knob  time 15min ø 44mm black

fittings for catering equipment
outlet taps

universal

1 A

G

B

Part No. 540747 Ref. No. PR70014

description
outlet tap  chrome-plated brass angled W 30mm H 40mm thread 
1/2“ IT

baskets
fryer baskets

FABA

1

Part No. 970236 Ref. No. PR70005

description fryer basket  L1 280mm W1 210mm H1 110mm

FABA

https://gastroparts.com/en/item/burner-lower-part-3-3-6kw-for-burner-cap-104289
https://gastroparts.com/en/item/burner-cap-3-6kw-o-120mm-104288
https://gastroparts.com/en/item/burner-ring-3-6kw-for-burner-cap-o-120mm-105086
https://gastroparts.com/en/item/burner-head-3-6kw-for-burner-cap-o-120mm-105087
https://gastroparts.com/en/item/burner-ring-3kw-for-burner-cap-o-90mm-105089
https://gastroparts.com/en/item/burner-head-3kw-for-burner-cap-o-90mm-105090
https://gastroparts.com/en/item/gas-injector-thread-m6x0-75-ws-7-bore-o-106482
https://gastroparts.com/en/item/gas-injector-thread-m6x0-75-ws-7-bore-o-106485
https://gastroparts.com/en/item/burner-ring-3-6kw-for-burner-cap-o-120mm-105086
https://gastroparts.com/en/item/burner-ring-3-6kw-for-burner-cap-o-120mm-105086
https://gastroparts.com/en/item/burner-cap-o-120mm-105085
https://gastroparts.com/en/item/burner-head-3-6kw-for-burner-cap-o-120mm-105087
https://gastroparts.com/en/item/burner-cap-a-o-110mm-with-central-hole-105088
https://gastroparts.com/en/item/burner-ring-3kw-for-burner-cap-o-90mm-105089
https://gastroparts.com/en/item/knob-switch-zero-mark-o-40mm-shaft-o-8x6-110377
https://gastroparts.com/en/item/knob-switch-zero-mark-o-40mm-shaft-o-6x4-110374
https://gastroparts.com/en/item/drain-tap-angled-thread-1-2-540747


9Find the complete and up-to-date range of products on https://gastroparts.com

1

m
ec

ha
ni

ca
l c

om
po

ne
nt

s, 
eq

ui
p-

m
en

t a
cc

es
so

rie
s

springs
torsion springs

1

Part No. 700171 Ref. No. PR13032

description
torsion spring  ø 21.4mm L2 40mm wire gauge ø 3.3mm L1 100mm 
L3 34mm

1

Part No. 700170 Ref. No. PR10012

description torsion spring  ø 22.3mm L2 40mm wire gauge ø 4.1mm L1 131mm

FABA SPRINGS

https://gastroparts.com/en/item/torsion-spring-o-21-4mm-l2-40mm-wire-gau-700171
https://gastroparts.com/en/item/torsion-spring-o-22-3mm-l2-40mm-wire-gau-700170


GASTROPARTS.COM


